# UNIQUENESS OF POSITIVE SOLUTIONS TO FRACTIONAL NONLINEAR ELLIPTIC EQUATIONS WITH HARMONIC POTENTIAL

TIANXIANG GOU<sup>*a*</sup>, VICENŢIU D. RĂDULESCU<sup>*b,c*</sup>

<sup>a</sup> School of Mathematics and Statistics, Xi'an Jiaotong University, 710049 Xi'an, Shaanxi, China

<sup>b</sup> Faculty of Applied Mathematics, AGH University of Kraków, 30-059 Kraków, Poland <sup>c</sup> Department of Mathematics, University of Craiova, 200585 Craiova, Romania

ABSTRACT. In this paper, we establish the uniqueness of positive solutions to the following fractional nonlinear elliptic equation with harmonic potential

$$(-\Delta)^{s}u + \left(\omega + |x|^{2}\right)u = |u|^{p-2}u \quad \text{in } \mathbb{R}^{n},$$

where  $n \ge 1$ , 0 < s < 1,  $\omega > -\lambda_{1,s}$ ,  $2 , and <math>\lambda_{1,s} > 0$  is the lowest eigenvalue of the operator  $(-\Delta)^s + |x|^2$ . This solves an open question raised in [15] concerning the uniqueness of solutions to the equation.

## 1. INTRODUCTION

In this paper, we are concerned with the uniqueness of positive solutions to the following fractional nonlinear elliptic equation with harmonic potential,

$$(-\Delta)^{s} u + (\omega + |x|^{2}) u = |u|^{p-2} u \quad \text{in } \mathbb{R}^{n},$$
(1.1)

where  $n \ge 1$ , 0 < s < 1,  $\omega > -\lambda_{1,s}$ ,  $2 and <math>\lambda_{1,s} > 0$  is the lowest eigenvalue of  $(-\Delta)^s + |x|^2$  given by

$$\lambda_{1,s} := \inf\left\{ \int_{\mathbb{R}^n} |(-\Delta)^{\frac{s}{2}} u|^2 \, dx + |x|^2 |u|^2 \, dx : u \in \Sigma_s, \int_{\mathbb{R}^n} |u|^2 \, dx = 1 \right\}, \tag{1.2}$$
$$\Sigma_s := H^s(\mathbb{R}^n) \cap L^2(\mathbb{R}^n, |x|^2 \, dx).$$

Here the fractional Laplacian  $(-\Delta)^s$  is defined by

$$(-\Delta)^{s} u(x) := C(n,s) P.V. \int_{\mathbb{R}^{n}} \frac{u(x) - u(y)}{|x - y|^{n + 2s}} \, dy, \quad C(n,s) := \frac{s 2^{2s} \Gamma\left(\frac{n + 2s}{2}\right)}{\pi^{\frac{n}{2}} \gamma(1 - s)}$$

The Sobolev space  $H^{s}(\mathbb{R}^{n})$  is defined by the completion of  $C_{0}^{\infty}(\mathbb{R}^{n})$  under the norm

$$||u|| := ||u||_2 + [u]_s,$$

where

$$[u]_{s} := \left(\frac{C(n,s)}{2} \int_{\mathbb{R}^{n}} \int_{\mathbb{R}^{n}} \frac{|u(x) - u(y)|^{2}}{|x - y|^{n + 2s}} \, dx \, dy\right)^{\frac{1}{2}}.$$

*E-mail address*:tianxiang.gou@xjtu.edu.cn, radulescu@inf.ucv.ro.

<sup>2010</sup> Mathematics Subject Classification. 35A02; 35R11.

Key words and phrases. Uniqueness, Positive Solutions, Harmonic potential, Fractional elliptic equations.

Equation (1.1) appears in the study of standing waves to the following fractional nonlinear Schrödinger equation with harmonic potential,

$$i\partial_t \psi + (-\Delta)^s \psi + |x|^2 \psi = |\psi|^{p-2} \psi \quad \text{in } \mathbb{R} \times \mathbb{R}^n,$$
(1.3)

where a standing wave to (1.3) is a solution of the form

$$\psi(t, x) = e^{-i\omega t} u(x), \quad \omega \in \mathbb{R}$$

Equation (1.3) is of particular interest in fractional quantum mechanics, where  $\psi$  denotes the probability density function of a particle trapped inside a trapping potential well modeled by  $|x|^2$ .

Following the early work due to Laskin [13, 14], the study of the following nonlinear elliptic equation driven by the fractional Laplacian has attracted much attention in recent decades,

$$(-\Delta)^{s}u + V(x)u = |u|^{p-2}u \quad \text{in } \mathbb{R}^{n}, \tag{1.4}$$

where  $n \ge 1$ , 0 < s < 1 and 2 . The existence of solutions to (1.4) can be straightforwardlyachieved with the help of minimax arguments, see for example [16]. Mathematically, it is impor $tant and fundamental to investigate the uniqueness of solutions to (1.4). Let <math>V(x) = \omega > 0$ . When s = 1, by applying shooting method, the uniqueness of positive solutions to (1.4) was established by Kwong [12]. While 0 < s < 1, the consideration of the uniqueness of solutions to (1.1) is challengeable, due to the fractional Laplacian operator is nonlocal and ODE techniques adapted to deal with the case s = 1 are no longer available. It was first proved by Amick and Toland in [1] that (1.4) has a unique positive solution for n = 1, s = 1/2 and p = 3. Later, Fall and Valdinoci in [4] established the uniqueness of positive solutions to (1.4) for *s* close to 1. The result has been extended by Frank, Lenzmann and Silvestre [7, 8], who obtained the uniqueness of positive solutions with Morse index one to (1.4) for any 0 < s < 1. Very recently, Fall and Weth in [5] further showed that (1.4) admits a unique positive solution.

Observe that  $\Sigma_s$  is compactly embedded into  $L^q(\mathbb{R}^n)$  for any  $2 \le q < 2_s^*$ . Then, by using minimax arguments in [16], one can simply derive the existence of solutions to (1.1). However, the uniqueness of solutions to (1.1) is a delicate issue, which is left as open problem in [15]. When s = 1, by applying ODE techniques due to Yanagida and Yotsutani [17], the uniqueness of positive solutions to (1.1) was established in [10, 11]. While 0 < s < 1, the uniqueness of positive solutions to (1.1) is unknown for a long time. Recently, by employing the approach developed in [7, 8], Gou in [9] successfully derived that (1.1) has a unique ground state. However, the uniqueness of positive solutions to (1.1) is unknown so far. As an extension of the result in [9], the aim of the present paper is to establish the uniqueness of positive solutions to (1.1).

**Theorem 1.1.** Let  $n \ge 1$ , 0 < s < 1,  $\omega > -\lambda_{1,s}$  and  $2 . Then problem (1.1) admits a unique positive solution in <math>\Sigma_s$ .

To prove Theorem 1.1, relying on the elements attained in [9], it suffices to show that any positive solution to (1.1) is non-degenerate. The non-degeneracy of ground states to (1.1) was derived in [15], which has been used to establish the uniqueness of ground states to (1.1) in [9]. Nevertheless, arguments proposed in [15] are not available to verify the non-degeneracy of positive solutions to (1.1). To gain the non-degeneracy of positive solutions to (1.1), we are inspired by ingredients developed in [2, 5]. Let  $u \in \Sigma_s$  be a positive solution to (1.1). The aim is to demonstrate that u is non-degenerate, i.e.  $Ker[\mathcal{L}_{+,s}] = 0$ , where

$$\mathscr{L}_{+,s} = (-\Delta)^{s} + (\omega + |x|^{2}) - (p-1)|u|^{p-2},$$

see Theorem 2.2. To attain the desired conclusion, we begin with proving that any positive solution to (1.1) is radially symmetric and decreasing, see Theorem 2.1, the proof of which is based on moving planes method. However, due to the presence of the harmonic potential, the procedure carried out in the current context is different from the one conducted in [6], where the radial symmetry of

3

positive solutions to (1.4) with  $V(x) = \omega > 0$  was revealed. Next we need to introduce the following eigenvalue problem,

$$(-\Delta)^{s} \nu + \left(\omega + |x|^{2}\right) \nu = \Lambda |u|^{p-2} \nu, \quad \nu \in \Sigma_{s}.$$
(1.5)

It is not difficult to find that (1.5) possesses a sequence of eigenvalues  $0 < \Lambda_1 < \Lambda_2 \le \Lambda_3 \le \cdots$ , because  $\Sigma_s$  is compactly embedded into  $L^q(\mathbb{R}^n)$  for any  $2 \le q < 2_s^*$ . Observe that  $\Lambda_1$  is simple and any eigenfunction corresponding to  $\Lambda_1$  is positive. And eigenfunctions corresponding to other eigenvalues are orthogonal to the eigenfunctions corresponding to  $\Lambda_1$  with respect to the scalar product in  $L^2(\mathbb{R}^n, |u|^{p-2} dx)$ , which are indeed sign-changing. Since  $u \in \Sigma_s$  is a positive solution to (1.1), then we can conclude that  $\Lambda_1 = 1$ . At this point, the key element is to check that  $\Lambda_2 > p - 1$ . If this is true, then we know that  $Ker[\mathscr{L}_{+,s}] = 0$ . If  $Ker[\mathscr{L}_{+,s}] \neq 0$ , then we would get that p - 1 is an eigenvalue to (1.5). However, this is impossible, because  $\Lambda_1$  is the first eigenvalue and  $\Lambda_2$  is the second one to (1.5). And there exists no eigenvalues between  $\Lambda_1$  and  $\Lambda_2$ . To deduce that  $\Lambda_2 > p - 1$ , we shall argue by contradiction that  $\Lambda_2 \leq p - 1$ . In order to reach a contradiction, we first need to infer that any eigenfunction corresponding to  $\Lambda_2$  is non-radial, the proof of which is beneficial from the polarization arguments, see for example [2]. Then, making use of the Picone type result established in [5], we are able to reach a contradiction. This completes the proof.

### 2. PROOF OF THEOREM 1.1

In this section, we are going to establish Theorem 1.1. To do this, we first prove the radial symmetry and decrease of any positive solution to (1.1). In what follows, we shall use the symbol  $X \leq Y$  to denote that  $X \leq CY$  for some proper constant C > 0.

**Theorem 2.1.** Let  $n \ge 1$ , 0 < s < 1,  $\omega > -\lambda_{1,s}$  and 2 . Then any positive solution to (1.1) is radially symmetric and decreasing.

*Proof.* Let  $u \in \Sigma_s$  be a positive solution to (1.1). In order to prove that u is radially symmetric and decreasing, we shall make use of moving planes method. Define

$$\Sigma_{\lambda} := \{ x \in \mathbb{R}^n : x_1 > \lambda \}, \quad T_{\lambda} := \{ x \in \mathbb{R}^n : x_1 = \lambda \}, \quad u_{\lambda}(x) := u(x_{\lambda}) \}$$

where  $x_{\lambda} := (2\lambda - x_1, x_2, \dots, x_n)$ . By proceeding bootstrap procedure, we can derive that  $u \in C^{\infty}(\mathbb{R}^n) \cap L^{\infty}(\mathbb{R}^n)$  and  $u(x) \to 0$  as  $|x| \to \infty$ . It then follows that there exists R > 0 such that

$$(-\Delta)^s u + \frac{\alpha}{2} u \le 0, \quad |x| > R$$

where  $\alpha > 0$ . This along with [6, Lemma 4.3] and maximum principle gives that

$$0 < u(x) \lesssim \frac{1}{|x|^{n+2s}}, \quad x \in \mathbb{R}^n.$$

$$(2.1)$$

Now define

$$\lambda_0 := \sup_{\lambda \le 0} A_{\lambda}, \quad A_{\lambda} := \{\lambda \le 0 : u_{\lambda} \le u \text{ in } \Sigma_{\lambda}\}.$$
(2.2)

First we verify that the set  $A_{\lambda}$  is not empty. For convenience, we define

$$w_{\lambda}(x) := \begin{cases} (u_{\lambda} - u)^+(x), & x \in \Sigma_{\lambda}, \\ (u_{\lambda} - u)^-(x), & x \in \mathbb{R}^n \setminus \Sigma_{\lambda}, \end{cases}$$

where

$$(u_{\lambda} - u)^{+}(x) := \max\{(u_{\lambda} - u)(x), 0\}, \quad (u_{\lambda} - u)^{-}(x) := \min\{(u_{\lambda} - u)(x), 0\}$$

Since  $u \in \Sigma_s$  is a solution to (1.1), then

$$\int_{\Sigma_{\lambda}} (-\Delta)^{s} (u_{\lambda} - u) (u_{\lambda} - u)^{+} dx + \int_{\Sigma_{\lambda}} \omega (u_{\lambda} - u) (u_{\lambda} - u)^{+} + (|x_{\lambda}|^{2} u_{\lambda} - |x|^{2} u) (u_{\lambda} - u)^{+} dx$$

$$= \int_{\Sigma_{\lambda}} (|u_{\lambda}|^{p-2} u_{\lambda} - |u|^{p-2} u) (u_{\lambda} - u)^{+} dx.$$
(2.3)

Observe that

$$\int_{\mathbb{R}^{n}} |(-\Delta)^{\frac{s}{2}} w_{\lambda}|^{2} dx = \int_{\mathbb{R}^{n}} (-\Delta)^{s} w_{\lambda} w_{\lambda} dx = \int_{\Sigma_{\lambda}} (-\Delta)^{s} w_{\lambda} w_{\lambda} dx + \int_{\mathbb{R}^{n} \setminus \Sigma_{\lambda}} (-\Delta)^{s} w_{\lambda} w_{\lambda} dx = 2 \int_{\Sigma_{\lambda}} (-\Delta)^{s} w_{\lambda} w_{\lambda} dx \leq 2 \int_{\Sigma_{\lambda}} (-\Delta)^{s} (u_{\lambda} - u) (u_{\lambda} - u)^{+} dx.$$

$$(2.4)$$

Since  $\lambda \leq 0$ , then  $|x| \leq |x_{\lambda}|$  for  $x \in \Sigma_{\lambda}$  and

$$\int_{\Sigma_{\lambda}} \left( |x_{\lambda}|^2 u_{\lambda} - |x|^2 u \right) (u_{\lambda} - u)^+ dx \ge \int_{\Sigma_{\lambda}} |x|^2 (u_{\lambda} - u) (u_{\lambda} - u)^+ dx = \int_{\Sigma_{\lambda}} |x|^2 |w_{\lambda}|^2 dx.$$
(2.5)

Moreover, using the mean value theorem and (2.1), we can derive that

$$\int_{\Sigma_{\lambda}} (|u_{\lambda}|^{p-2}u_{\lambda} - |u|^{p-2}u)(u_{\lambda} - u)^{+} dx = \int_{\Sigma_{\lambda}} \frac{|u_{\lambda}|^{p-2}u_{\lambda} - |u|^{p-2}u}{(u_{\lambda} - u)^{+}} |(u_{\lambda} - u)^{+}|^{2} dx$$

$$\lesssim \int_{\Sigma_{\lambda}} |u_{\lambda}|^{p-2} |(u_{\lambda} - u)^{+}|^{2} dx$$

$$\lesssim \int_{\Sigma_{\lambda}} \frac{1}{|x_{\lambda}|^{(n+2s)(p-2)}} |w_{\lambda}|^{2} dx$$

$$\leq \left(\int_{\Sigma_{\lambda}} \frac{1}{|x_{\lambda}|^{(n+2s)p}} dx\right)^{\frac{p-2}{p}} \left(\int_{\Sigma_{\lambda}} |w_{\lambda}|^{p} dx\right)^{\frac{2}{p}},$$
(2.6)

where

$$\int_{\Sigma_{\lambda}} \frac{1}{|x_{\lambda}|^{(n+2s)p}} \, dx = \int_{\mathbb{R}^n \setminus \Sigma_{\lambda}} \frac{1}{|x|^{(n+2s)p}} \, dx \leq \int_{\mathbb{R}^n \setminus B_{|\lambda|}(0)} \frac{1}{|x|^{(n+2s)p}} \, dx = \frac{C}{|\lambda|^{(n+2s)p-n}},$$

where C = C(n, s, p) > 0. Consequently, we conclude from (2.6) that

$$\int_{\Sigma_{\lambda}} (|u_{\lambda}|^{p-2} u_{\lambda} - |u|^{p-2} u) (u_{\lambda} - u)^{+} dx \lesssim \frac{1}{|\lambda|^{(n+2s)p-n}} \left( \int_{\Sigma_{\lambda}} |w_{\lambda}|^{p} dx \right)^{\frac{2}{p}}.$$
(2.7)

Combining (2.3), (2.4), (2.5) and (2.7) and applying the embedding inequality in  $\Sigma_s$ , we then obtain that

$$\begin{split} \left(\int_{\Sigma_{\lambda}}|w|^{p}\,dx\right)^{\frac{2}{p}} &\lesssim \int_{\mathbb{R}^{n}}|(-\Delta)^{\frac{s}{2}}\,w_{\lambda}|^{2}\,dx + \int_{\mathbb{R}^{n}}\left(\omega + |x|^{2}\right)|w_{\lambda}|^{2}\,dx\\ &\lesssim \int_{\Sigma_{\lambda}}(|u_{\lambda}|^{p-2}u_{\lambda} - |u|^{p-2}u)(u_{\lambda} - u)^{+}\,dx \lesssim \left(\frac{1}{|\lambda|^{(n+2s)p-n}}\right)^{\frac{p-2}{p}}\left(\int_{\Sigma_{\lambda}}|w_{\lambda}|^{p}\,dx\right)^{\frac{2}{p}}. \end{split}$$

Now choosing  $|\lambda| > 0$  large enough, we then reach a contradiction from above. This in turn infers that  $w_{\lambda} = 0$  in  $\Sigma_{\lambda}$  for  $|\lambda| > 0$  large enough. Therefore, we conclude that  $u_{\lambda} \le u$  in  $\Sigma_{\lambda}$  for  $|\lambda| > 0$  large enough. As a consequence, there holds that the set  $A_{\lambda}$  is not empty and  $\lambda_0$  is finite defined by (2.2).

Next we are going to demonstrate that  $u = u_{\lambda_0}$  in  $\Sigma_{\lambda_0}$ . Suppose by contradiction that  $u \neq u_{\lambda_0}$  and  $u_{\lambda_0} \leq u$  in  $\Sigma_{\lambda_0}$ . If there exists  $x_0 \in \Sigma_{\lambda_0}$  such that  $u(x_0) = u_{\lambda_0}(x_0)$ , by applying the fact that u is a solution to (1.1), then

$$(-\Delta)^{s} u_{\lambda_{0}}(x_{0}) - (-\Delta)^{s} u(x_{0}) \le 0,$$
(2.8)

because of  $|x| \le |x_{\lambda_0}|$ . However, we find that

$$(-\Delta)^{s} u_{\lambda_{0}}(x_{0}) - (-\Delta)^{s} u(x_{0}) = C(n,s) \int_{\mathbb{R}^{n}} \frac{u(y) - u_{\lambda_{0}}(y)}{|x - y|^{n + 2s}} dy$$
  
$$= C(n,s) \left( \int_{\Sigma_{\lambda_{0}}} \frac{u(y) - u_{\lambda_{0}}(y)}{|x_{0} - y|^{n + 2s}} dy + \int_{\mathbb{R}^{n} \setminus \Sigma_{\lambda_{0}}} \frac{u(y) - u_{\lambda_{0}}(y)}{|x_{0} - y|^{n + 2s}} dy \right)$$
(2.9)  
$$= C(n,s) \int_{\Sigma_{\lambda_{0}}} \left( u(y) - u_{\lambda_{0}}(y) \right) \left( \frac{1}{|x_{0} - y|^{n + 2s}} - \frac{1}{|x_{0} - y_{\lambda_{0}}|^{n + 2s}} \right) dy > 0.$$

Hence we reach a contradiction from (2.8) and (2.9). This obviously shows that  $u_{\lambda_0} < u$  in  $\Sigma_{\lambda_0}$ . To derive the desired conclusion, it suffices to verify that there exists  $\epsilon > 0$  small enough such that  $u_{\lambda} < u$  in  $\Sigma_{\lambda}$  for any  $\lambda_0 < \lambda < \lambda_0 + \epsilon$ . Let us denote  $P = (\lambda, 0, \dots, 0) \in \mathbb{R}^n$ . In view of (2.3), (2.4) and (2.5) and the embedding inequality in  $\Sigma_s$ , we know that there exists C > 0 such that

$$\left(\int_{\Sigma_{\lambda}} |w|^{p} dx\right)^{\frac{2}{p}} \le C \int_{\Sigma_{\lambda}} (|u_{\lambda}|^{p-2} u_{\lambda} - |u|^{p-2} u) (u_{\lambda} - u)^{+} dx.$$
(2.10)

It is simple to compute that

$$\begin{split} \int_{\Sigma_{\lambda}\cap B_{R}(P)} (|u_{\lambda}|^{p-2}u_{\lambda}-|u|^{p-2}u)(u_{\lambda}-u)^{+} dx &= \int_{\Sigma_{\lambda}\cap B_{R}(P)} \frac{|u_{\lambda}|^{p-2}u_{\lambda}-|u|^{p-2}u}{(u_{\lambda}-u)^{+}}(u_{\lambda}-u)^{+} dx \\ &\lesssim \int_{\Sigma_{\lambda}\cap B_{R}(P)\cap supp(u_{\lambda}-u)} |w_{\lambda}|^{2} dx \qquad (2.11) \\ &\leq \left|\Sigma_{\lambda}\cap B_{R}(P)\cap supp(u_{\lambda}-u)\right|^{\frac{p-2}{p}} \left(\int_{\Sigma_{\lambda}} |w_{\lambda}|^{p} dx\right)^{\frac{2}{p}}, \end{split}$$

where we used the mean value theorem and the fact that  $u \in L^{\infty}(\mathbb{R}^n)$ . Let R > 0 and  $R_0 > 0$  be such that  $\Sigma_{\lambda} \setminus B_R(P) \subset \mathbb{R}^n \setminus B_{R_0}(0)$ , which are determined later. Therefore, by invoking the mean value theorem and (2.1) as previously, we are able to obtain that

$$\begin{split} \int_{\Sigma_{\lambda} \setminus B_{R}(P)} (|u_{\lambda}|^{p-2}u_{\lambda} - |u|^{p-2}u)(u_{\lambda} - u)^{+} dx &\lesssim \int_{\Sigma_{\lambda} \setminus B_{R}(P)} |u_{\lambda}|^{p-2} |w_{\lambda}|^{2} dx \\ &\lesssim \left( \int_{\mathbb{R}^{n} \setminus B_{R_{0}}(0)} \frac{1}{|x_{\lambda}|^{(n+2s)p}} dx \right)^{\frac{p-2}{p}} \left( \int_{\Sigma_{\lambda}} |w_{\lambda}|^{p} dx \right)^{\frac{2}{p}} \\ &\lesssim \left( \frac{1}{R_{0}^{(n+2s)p-n}} \right)^{\frac{p-2}{p}} \left( \int_{\Sigma_{\lambda}} |w_{\lambda}|^{p} dx \right)^{\frac{2}{p}}. \end{split}$$

Now we choose  $R_0 > 0$  large enough such that

$$\int_{\Sigma_{\lambda} \setminus B_{R}(P)} (|u_{\lambda}|^{p-2} u_{\lambda} - |u|^{p-2} u) (u_{\lambda} - u)^{+} dx < \frac{1}{4C} \left( \int_{\Sigma_{\lambda}} |w_{\lambda}|^{p} dx \right)^{\frac{2}{p}}.$$
(2.12)

Then we choose R > 0 such that  $\Sigma_{\lambda} \setminus B_R(P) \subset \mathbb{R}^n \setminus B_{R_0}(0)$ . Moreover, applying (2.11), we choose  $\epsilon > 0$  small enough such that

$$\int_{\Sigma_{\lambda} \cap B_{R}(P)} (|u_{\lambda}|^{p-2}u_{\lambda} - |u|^{p-2}u)(u_{\lambda} - u)^{+} dx < \frac{1}{4C} \left( \int_{\Sigma_{\lambda}} |w|^{p} dx \right)^{\frac{2}{p}}.$$
(2.13)

Accordingly, from (2.12) and (2.13), there holds that

$$\int_{\Sigma_{\lambda}} (|u_{\lambda}|^{p-2}u_{\lambda} - |u|^{p-2}u)(u_{\lambda} - u)^{+} dx < \frac{1}{2C} \left( \int_{\Sigma_{\lambda}} |w|^{p} dx \right)^{\frac{2}{p}}.$$

Coming back to (2.10), we then have that  $w_{\lambda} = 0$  in  $\Sigma_{\lambda}$ . This readily indicates that  $u = u_{\lambda_0}$  in  $\Sigma_{\lambda_0}$ . Further, by (2.8) and (2.9), we can get that  $\lambda_0 = 0$ . Indeed, if  $\lambda_0 < 0$ , then

$$(-\Delta)^{s} u_{\lambda_0}(x_0) - (-\Delta)^{s} u(x_0) < 0.$$

This clearly contradicts (2.9). Let  $0 \le x_1 < x'_1$ , then  $-x'_1 < -x_1 < 0$ . Define

$$\lambda := \frac{-x_1 - x_1'}{2} < 0.$$

Since  $u_{\lambda} < u$  in  $\Sigma_{\lambda}$ , then

$$u(-x'_1, 0, \dots, 0) = u_{\lambda}((-x'_1, 0, \dots, 0)_{\lambda}) < u((-x'_1, 0, \dots, 0)_{\lambda}) = u_{\lambda}(-x_1, 0, \dots, 0) < u(-x_1, 0, \dots, 0).$$

It then follows that  $u(x'_1, 0, \dots, 0) < u(x_1, 0, \dots, 0)$ , due to  $u_{\lambda_0} = u$  in  $\Sigma_{\lambda_0}$  and  $\lambda_0 = 0$ . At this moment, repeating the arguments above in any direction, we then get that u is radially symmetric and decreasing. Thus the proof is completed.

**Theorem 2.2.** Let  $n \ge 1$ , 0 < s < 1,  $\omega > -\lambda_{1,s}$  and  $2 . Let <math>u \in \Sigma_s$  be a positive solution to (1.1). Then there holds that  $Ker[\mathcal{L}_{+,s}] = 0$ , where

$$\mathscr{L}_{+,s} = (-\Delta)^{s} + (\omega + |x|^{2}) - (p-1)|u|^{p-2}$$

*Proof.* Let  $u \in \Sigma_s$  be a positive solution to (1.1). It follows from Theorem 2.1 that u is radially symmetric and decreasing. First we introduce the following eigenvalue problem,

$$(-\Delta)^{s} \nu + \left(\omega + |x|^{2}\right) \nu = \Lambda |u|^{p-2} \nu, \quad \nu \in \Sigma_{s}.$$
(2.14)

It is obvious that there exists a sequence of eigenvalues  $0 < \Lambda_1 < \Lambda_2 \leq \Lambda_3 \leq \cdots$ , where  $\Lambda_1$  is given by

$$\Lambda_{1} = \inf\left\{\int_{\mathbb{R}^{n}} |(-\Delta)^{\frac{s}{2}} v|^{2} dx + \int_{\mathbb{R}^{n}} (\omega + |x|^{2}) |v|^{2} dx : v \in \Sigma_{s}, \int_{\mathbb{R}^{n}} |v|^{2} |u|^{p-2} dx = 1\right\}.$$

It is well-known that  $\Lambda_1$  is the first eigenvalue, which is simple and possesses positive eigenfunctions. Moreover, eigenfunctions corresponding to the eigenvalues  $\Lambda_i$  for  $i \ge 2$  are orthogonal to eigenfunctions corresponding to  $\Lambda_1$  with respect to the scalar product in  $L^2(\mathbb{R}^n, |u|^{p-2} dx)$ , which indeed changes sign. Since  $u \in \Sigma_s$  solves (1.1) and it is positive, then it is an eigenfunction corresponding to  $\Lambda_1$ . This leads to  $\Lambda_1 = 1$ . Therefore, the second eigenvalue can be denoted by

$$\Lambda_{2} = \inf\left\{\int_{\mathbb{R}^{n}} |(-\Delta)^{\frac{s}{2}} v|^{2} dx + \int_{\mathbb{R}^{n}} (\omega + |x|^{2}) |v|^{2} dx : v \in \Sigma_{s}, \int_{\mathbb{R}^{n}} |v|^{2} |u|^{p-2} dx = 1, \int_{\mathbb{R}^{n}} v |u|^{p-1} dx = 0\right\}.$$

In the following, we shall prove that any eigenfunction corresponding to  $\Lambda_2$  is not radially symmetric. Let  $v \in \Sigma_s$  be an eigenfunction corresponding to  $\Lambda_2$ . On the contrary, we shall assume that v is radially symmetric, i.e. there exists a function  $\rho : [0, \infty) \to \mathbb{R}$  such that  $\rho(|x|) = v(x)$  for  $x \in \mathbb{R}^n$ . It follows from [15, Proposition 7] that v changes sign only once. Let r > 0 be such that  $\rho(r) = 0$  and  $\rho(t) > 0$  for t > r. Let  $\lambda > 0$  and  $P_{\lambda}v$  be the polarization of v with respect to the half space  $H_{\lambda}$ , where

$$P_{\lambda}v(x) := \begin{cases} \max\{v(x), v(\sigma_{\lambda}(x))\}, & x \in H_{\lambda}, \\ \min\{v(x), v(\sigma_{\lambda}(x))\}, & x \notin H_{\lambda}, \end{cases}$$
(2.15)

$$H_{\lambda} := \left\{ x \in \mathbb{R}^n : x_1 < \lambda \right\}, \quad \sigma_{\lambda}(x) := (2\lambda - x_1, x_2, \cdots, x_n).$$

Since *v* changes sign, then  $P_{\lambda}v$  changes sign. From the definition of the polarization, we can see that

$$(P_{\lambda}v)^{\pm} = P_{\lambda}v^{\pm}, \qquad (2.16)$$

where the positive and negative parts of a function  $\phi : \mathbb{R}^n \to \mathbb{R}$  are respectively defined by

$$\phi^+ := \max\{\phi(x), 0\}, \quad \phi^- := \min\{\phi(x), 0\}, \quad \phi = \phi^+ + \phi^-$$

In view of the definition of  $P_{\lambda}$ , we then write that

$$P_{\lambda}v(x) := \begin{cases} \frac{1}{2}\left(v(x) + v(\sigma_{\lambda}(x))\right) + \frac{1}{2}\left|v(x) - v(\sigma_{\lambda}(x))\right|, & x \in H_{\lambda}, \\ \frac{1}{2}\left(v(x) + v(\sigma_{\lambda}(x))\right) - \frac{1}{2}\left|v(x) - v(\sigma_{\lambda}(x))\right|, & x \notin H_{\lambda}. \end{cases}$$

It then follows that

$$\int_{\mathbb{R}^{N}} |P_{\lambda}v^{+}|^{2} dx = \int_{H_{\lambda}} |P_{\lambda}v^{+}|^{2} dx + \int_{\mathbb{R}^{n} \setminus H_{\lambda}} |P_{\lambda}v^{+}|^{2} dx$$

$$= \frac{1}{2} \int_{H_{\lambda}} |v^{+}|^{2} + |v^{+}(\sigma_{\lambda} \cdot)|^{2} dx + \frac{1}{2} \int_{H_{\lambda}} ||v^{+}|^{2} - |v^{+}(\sigma_{\lambda} \cdot)|^{2} |dx$$

$$+ \frac{1}{2} \int_{\mathbb{R}^{n} \setminus H_{\lambda}} |v^{+}|^{2} + |v^{+}(\sigma_{\lambda} \cdot)|^{2} dx - \frac{1}{2} \int_{\mathbb{R}^{n} \setminus H_{\lambda}} ||v^{+}|^{2} - |v^{+}(\sigma_{\lambda} \cdot)|^{2} |dx$$

$$= \int_{\mathbb{R}^{n}} |v^{+}|^{2} dx.$$
(2.17)

Similarly, we can conclude that

$$\int_{\mathbb{R}^n} |P_\lambda v^-|^2 \, dx = \int_{\mathbb{R}^n} |v^-|^2 \, dx.$$

Now we assert that

$$\int_{\mathbb{R}^n} |x|^2 |P_{\lambda} v^+|^2 \, dx \le \int_{\mathbb{R}^n} |x|^2 |v^+|^2 \, dx.$$

Let R > 0 and  $V_R(|x|) := \min\{|x|^2, R^2\}$  for  $x \in \mathbb{R}^n$ . Then we get that the function  $x \mapsto -V_R(|x|) + R^2$  is positive, decreasing and radially symmetric. By the definition of  $P_\lambda$  given by (2.15), then it is invariant under the polarization  $P_\lambda$ , i.e.  $P_\lambda(-V_R + R^2) = -V_R + R^2$ . It then follows from [3, Lemma 3] that

$$\int_{\mathbb{R}^d} \left( -V_R + R^2 \right) |v^+|^2 \, dx \le \int_{\mathbb{R}^d} P_\lambda (-V_R + R^2) |P_\lambda v^+|^2 \, dx = \int_{\mathbb{R}^d} \left( -V_R + R^2 \right) |P_\lambda v^+|^2 \, dx.$$

This along with (2.17) gives that

$$\int_{\mathbb{R}^n} V_R |P_\lambda v^+|^2 \, dx \leq \int_{\mathbb{R}^n} V_R |v^+|^2 \, dx.$$

Passing the limit as R goes to infinity, we then have the desired conclusion. Similarly, we can derive that

$$\int_{\mathbb{R}^n} |x|^2 |P_{\lambda} v^-|^2 \, dx \le \int_{\mathbb{R}^n} |x|^2 |v^-|^2 \, dx.$$

Consequently, there holds that

$$\int_{\mathbb{R}^N} |P_{\lambda} v^{\pm}|^2 \, dx = \int_{\mathbb{R}^N} |v^{\pm}|^2 \, dx, \quad \int_{\mathbb{R}^N} |x|^2 |P_{\lambda} v^{\pm}|^2 \, dx \le \int_{\mathbb{R}^N} |x|^2 |v^{\pm}|^2 \, dx.$$

This together with (2.16) then leads to

$$\int_{\mathbb{R}^{n}} (P_{\lambda}v)^{\pm} P_{\lambda}v \, dx = \int_{\mathbb{R}^{n}} |(P_{\lambda}v)^{\pm}|^{2} \, dx = \int_{\mathbb{R}^{n}} |P_{\lambda}v^{\pm}|^{2} \, dx = \int_{\mathbb{R}^{n}} |v^{\pm}|^{2} \, dx = \int_{\mathbb{R}^{n}} vv^{\pm} \, dx, \tag{2.18}$$

$$\int_{\mathbb{R}^{n}} |x|^{2} (P_{\lambda} v)^{\pm} P_{\lambda} v \, dx = \int_{\mathbb{R}^{n}} |x|^{2} |(P_{\lambda} v)^{\pm}|^{2} \, dx = \int_{\mathbb{R}^{n}} |x|^{2} |P_{\lambda} v^{\pm}|^{2} \, dx$$
  
$$\leq \int_{\mathbb{R}^{n}} |x|^{2} |v^{\pm}|^{2} \, dx = \int_{\mathbb{R}^{n}} |x|^{2} v v^{\pm} \, dx.$$
(2.19)

Since *u* is radially symmetric and decreasing, by the definition of  $P_{\lambda}$  given by (2.15), then it is invariant under the polarization  $P_{\lambda}$ , i.e.  $P_{\lambda}u = u$ . Applying (2.16) and [3, Lemma 2], we then get that

$$\int_{\mathbb{R}^{n}} |u|^{p-2} (P_{\lambda}v) (P_{\lambda}v)^{\pm} dx = \int_{\mathbb{R}^{n}} |u|^{p-2} |(P_{\lambda}v)^{\pm}|^{2} dx = \int_{\mathbb{R}^{n}} |P_{\lambda}u|^{p-2} |P_{\lambda}v^{\pm}|^{2} dx$$
  
$$\geq \int_{\mathbb{R}^{n}} |u|^{p-2} |v^{\pm}|^{2} dx = \int_{\mathbb{R}^{n}} |u|^{p-2} vv^{\pm} dx,$$
(2.20)

where  $P_{\lambda}u > 0$ , due to u > 0. In addition, making use of [2, Lemma 2.2], we know that

$$\int_{\mathbb{R}^n} (-\Delta)^{\frac{s}{2}} P_{\lambda} \nu (-\Delta)^{\frac{s}{2}} (P_{\lambda} \nu)^{\pm} dx \le \int_{\mathbb{R}^n} (-\Delta)^{\frac{s}{2}} \nu (-\Delta)^{\frac{s}{2}} \nu^{\pm} dx.$$
(2.21)

Since  $v \in \Sigma_s$  solves (2.14) with  $\Lambda = \Lambda_2$ , then

$$\int_{\mathbb{R}^n} (-\Delta)^{\frac{s}{2}} v(-\Delta)^{\frac{s}{2}} v^{\pm} dx + \int_{\mathbb{R}^n} (\omega + |x|^2) v v^{\pm} dx = \Lambda_2 \int_{\mathbb{R}^n} |u|^{p-2} v v^{\pm} dx.$$
(2.22)

Therefore, utilizing (2.18)-(2.21), we are able to conclude from (2.22) that

$$\int_{\mathbb{R}^n} (-\Delta)^{\frac{s}{2}} P_{\lambda} v (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{\pm} dx + \int_{\mathbb{R}^n} (\omega + |x|^2) (P_{\lambda} v) (P_{\lambda} v)^{\pm} dx \leq \Lambda_2 \int_{\mathbb{R}^n} |u|^{p-2} (P_{\lambda} v) (P_{\lambda} v)^{\pm} dx.$$

Since u > 0,  $P_{\lambda}v^+ \ge 0$  and  $P_{\lambda}v^- \le 0$  for  $v^+ := \max\{v(x), 0\}$  and  $v^- := \min\{v(x), 0\}$ , by (2.16), then

$$\int_{\mathbb{R}^n} (P_{\lambda} v)^+ |u|^{p-1} dx = \int_{\mathbb{R}^n} (P_{\lambda} v^+) |u|^{p-1} dx > 0,$$

$$\int_{\mathbb{R}^n} (P_{\lambda} v)^{-} |u|^{p-1} \, dx = \int_{\mathbb{R}^n} (P_{\lambda} v^{-}) |u|^{p-1} \, dx < 0,$$

where *v* is sign-changing. As a consequence, we have that there exists  $\alpha_1 > 0$  such that

$$\int_{\mathbb{R}^n} \left( (P_\lambda v)^+ + \alpha_1 (P_\lambda v)^- \right) |u|^{p-1} dx = 0.$$

Observe that

$$\int_{\mathbb{R}^n} \left| (P_{\lambda} v)^+ + \alpha_1 (P_{\lambda} v)^- \right|^2 |u|^{p-2} \, dx = \int_{\mathbb{R}^n} \left( \left| (P_{\lambda} v)^+ \right|^2 + \alpha_1^2 |(P_{\lambda} v)^-|^2 \right) |u|^{p-2} \, dx > 0.$$

Therefore, we know that there exists  $\alpha_2 > 0$  such that

$$\alpha_2^2 \int_{\mathbb{R}^n} \left| (P_{\lambda} v)^+ + \alpha_1 (P_{\lambda} v)^- \right|^2 |u|^{p-2} \, dx = 1.$$

This implies that  $\alpha_2((P_\lambda \nu)^+ + \alpha_1(P_\lambda \nu)^-) \in \Sigma_s$  is a test function for the variational characterization of  $\Lambda_2$ . It then follows that

$$\begin{split} \Lambda_{2} &\leq \alpha_{2}^{2} \int_{\mathbb{R}^{n}} \left| (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{+} \right|^{2} dx + \alpha_{2}^{2} \int_{\mathbb{R}^{n}} \left( \omega + |x|^{2} \right) \left| (P_{\lambda} v)^{+} \right|^{2} dx \\ &+ \alpha_{1}^{2} \alpha_{2}^{2} \int_{\mathbb{R}^{n}} \left| (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{-} \right|^{2} dx + \alpha_{1}^{2} \alpha_{2}^{2} \int_{\mathbb{R}^{n}} (\omega + |x|^{2}) \left| (P_{\lambda} v)^{-} \right|^{2} dx \\ &+ 2\alpha_{1} \alpha_{2}^{2} \int_{\mathbb{R}^{n}} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{+} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{-} dx \\ &\leq \alpha_{2}^{2} \Lambda_{2} \int_{\mathbb{R}^{n}} |u|^{p-2} \left| (P_{\lambda} v)^{+} \right|^{2} dx - \alpha_{2}^{2} \int_{\mathbb{R}^{n}} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{+} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{-} dx \\ &+ \alpha_{1}^{2} \alpha_{2}^{2} \Lambda_{2} \int_{\mathbb{R}^{n}} |u|^{p-2} \left| (P_{\lambda} v)^{-} \right|^{2} dx - \alpha_{1}^{2} \alpha_{2}^{2} \int_{\mathbb{R}^{n}} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{+} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{-} dx \\ &+ 2\alpha_{1} \alpha_{2}^{2} \int_{\mathbb{R}^{n}} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{+} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{-} dx \\ &= \Lambda_{2} \int_{\mathbb{R}^{2}} |u|^{p-2} \left| \alpha_{2} \left( (P_{\lambda} v)^{+} + \alpha_{1} (P_{\lambda} v)^{-} \right) \right|^{2} dx - \alpha_{2}^{2} (1 - \alpha_{1})^{2} \int_{\mathbb{R}^{n}} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{+} (-\Delta)^{\frac{s}{2}} (P_{\lambda} v)^{-} dx \\ &\leq \Lambda_{2}, \end{split}$$

where we used the fact that

$$\int_{\mathbb{R}^n} (-\Delta)^{\frac{s}{2}} (P_\lambda v)^+ (-\Delta)^{\frac{s}{2}} (P_\lambda v)^- dx > 0.$$

It then gives that  $\alpha_1 = 1$ . Therefore, we know that  $P_{\lambda}\nu = (P_{\lambda}\nu)^+ + (P_{\lambda}\nu)^-$  is an eigenfunction corresponding to  $\Lambda_2$ . Note that  $\overline{x} = (r + 2\lambda, 0, \dots, 0) \notin H_{\lambda}$  and  $\sigma_{\lambda}(\overline{x}) = (-r, 0, \dots, 0)$ . This then implies that

$$P_{\lambda}v(\overline{x}) \leq v(\sigma_{\lambda}(\overline{x})) = \rho(|\sigma_{\lambda}(\overline{x})|) = 0.$$

On the other hand, since  $-\overline{x} \in H_{\lambda}$  with  $|\overline{x}| > r$ , then

$$P_{\lambda}\nu(-\overline{x}) \ge \nu(-\overline{x}) = \nu(\overline{x}) = \rho(|\overline{x}|) > 0.$$

Hence we can conclude that  $P_{\lambda}v$  is not radial and  $P_{\lambda}v \neq v$ , because v is assumed to be radially symmetric. Define  $\psi_{\lambda} := v - P_{\lambda}v$ . Clearly,  $\psi_{\lambda} \in \Sigma_s$  is also an eigenfunction corresponding to  $\Lambda_2$ . Since  $P_{\lambda}v \geq v$  on  $H_{\lambda}$ , then  $\psi_{\lambda} \leq 0$  and  $\psi_{\lambda} \neq 0$  on  $H_{\lambda}$ . Using maximum principle, we then know that  $\psi_{\lambda} < 0$  on  $H_{\lambda}$ . It then shows that  $v < v \circ \sigma_{\lambda}$  on  $H_{\lambda}$  for any  $\lambda > 0$ . Thus we are able to conclude that v is strictly increasing with respect to the  $x_1$  direction in the half space  $H_0$ . We then reach a contradiction from the assumption v is radial and the fact that v is sign-changing and  $v(x) \to 0$  as  $|x| \to \infty$ .

Next we are going to prove that  $\Lambda_2 > p - 1$ . Suppose by contradiction that  $\Lambda_2 \le p - 1$ . Let  $v \in \Sigma_s$  be an eigenfunction corresponding to  $\Lambda_2$ . Define

$$T_{\mu} := \{ x \in \mathbb{R}^n : x \cdot \mu = 0 \},$$

where  $\mu \in \mathbb{R}^n$  is a unit vector. Denote  $\sigma_{\mu}$  be the reflection with respect to  $T_{\mu}$ . Define

$$\psi_{\mu} := \frac{v - v \circ \sigma_{\mu}}{2} \in \Sigma_s.$$

Obviously, we find that  $\psi_{\mu}$  enjoys the equation

$$(-\Delta)^{s}\psi_{\mu} + (\omega + |x|^{2})\psi_{\mu} = \Lambda_{2}|u|^{p-2}\psi_{\mu}.$$
(2.23)

Define  $\varphi := -\nabla u \cdot \mu$ . Then  $\varphi \in \Sigma_s$  satisfies the equation

$$(-\Delta)^{s}\varphi + (\omega + |x|^{2})\varphi + 2(x \cdot \mu)u = (p-1)|u|^{p-2}\varphi.$$

Since *u* is radially symmetric and decreasing, then  $\varphi$  is odd with respect to the refection  $T_{\mu}$  and  $\varphi \ge 0$  in  $\{x \in \mathbb{R}^n : x \cdot \mu > 0\}$ . It immediately follows from [5, Lemma 5.3] that  $\varphi > 0$  on  $\{x \in \mathbb{R}^n : x \cdot \mu > 0\}$ 

and  $\nabla \varphi \cdot \mu > 0$  in  $\{x \in \mathbb{R}^n : x \cdot \mu = 0\}$ . Let  $\chi : \mathbb{R} \to [0, 1]$  be a smooth cut-off function such that  $\chi = 1$  on (-1, 1) and  $\chi = 0$  on (-2, 2). Define

$$\psi^R_\mu(x) := \psi_\mu(x) \chi\left(\frac{|x|}{R}\right), \quad R > 0.$$

Applying [5, Lemma 2.1], we then get that

$$\int_{\mathbb{R}^n} |(-\Delta)^{\frac{s}{2}} \psi^R_{\mu}|^2 \, dx + \int_{\mathbb{R}^n} \left( \omega + |x|^2 \right) |\psi^R_{\mu}|^2 \, dx - (p-1) \int_{\mathbb{R}^n} |u|^{p-2} |\psi^R_{\mu}|^2 \, dx \ge \int_{\{x \cdot \mu > 0\} \cap \{y \cdot \mu > 0\}} H^{\mu}_{\psi^R_{\mu}, \varphi} \, dx,$$

where

$$H^{\mu}_{\psi^{R}_{\mu},\varphi}(x,y) := C(N,s)\varphi(x)\varphi(y)\left(\frac{\psi^{R}_{\mu}(x)}{\varphi(x)} - \frac{\psi^{R}_{\mu}(y)}{\varphi(y)}\right)^{2} \left(\frac{1}{|x-y|^{n+2s}} - \frac{1}{|\sigma_{\mu}(x)-y|^{n+2s}}\right)$$

Taking the limit as  $R \to \infty$ , we then know that

$$\int_{\mathbb{R}^{n}} |(-\Delta)^{\frac{s}{2}} \psi_{\mu}|^{2} dx + \int_{\mathbb{R}^{n}} (\omega + |x|^{2}) |\psi_{\mu}|^{2} dx - (p-1) \int_{\mathbb{R}^{n}} |u|^{p-2} |\psi_{\mu}|^{2} dx \ge \int_{\{x \cdot \mu > 0\} \cap \{y \cdot \mu > 0\}} H^{\mu}_{\psi_{\mu},\varphi} dx \ge 0.$$

Using (2.23) and the assumption that  $\Lambda_2 \leq p - 1$ , we then obtain that

$$0 \ge (\Lambda_2 - p + 1) \int_{\mathbb{R}^n} |u|^{p-2} |\psi_{\mu}|^2 \, dx \ge \int_{\{x : \mu > 0\} \cap \{y : \mu > 0\}} H^{\mu}_{\psi_{\mu}, \varphi} \, dx \ge 0.$$

As a result, we have that  $\psi_{\mu} = 0$ . Since  $\nu$  is nonradial, then there exists a unit vector  $\overline{\mu} \in \mathbb{R}^n$  such that  $\psi_{\overline{\mu}} \neq 0$ . We then reach a contradiction. This implies that  $\Lambda_2 > p - 1$ . Since  $1 = \Lambda_1 , then <math>Ker[\mathscr{L}_{s,+}] = 0$  and the proof is completed.

*Proof of Theorem* 1.1. From Theorems 2.1 and 2.2, we know that the conditions of Lemma 2.4 in [9] hold true. Then, replacing the roles of ground states by positive solutions to (1.1) and closely following the discussions in [9], we are able to conclude the desired conclusion. This completes the proof.

### STATEMENTS AND DECLARATIONS

Conflict of Interests. The authors declare that there are no conflict of interests.

**Data Availability Statement.** . Data sharing is not applicable to this article as no data sets were generated or analysed during the current study.

**Acknowledgements.** Tianxiang Gou was supported by the National Natural Science Foundation of China (No. 12101483) and the Postdoctoral Science Foundation of China (No. 2021M702620). The research of Vicențiu D. Rădulescu was supported by the grant "Nonlinear Differential Systems in Applied Sciences" of the Romanian Ministry of Research, Innovation and Digitization, within PNRR-III-C9-2022-I8/22.

#### REFERENCES

- [1] C.J. Amick, J.F. Toland, Uniqueness and related analytic properties for the Benjamin-Ono equation a nonlinear Neumann problem in the plane, Acta Math. 167 (1991), no. 1-2, 107–126.
- [2] J. Benedikt, V. Bobkov, R.N. Dhara, P. Girg, *Nonradiality of second eigenfunctions of the fractional Laplacian in a ball*, Proc. Amer. Math. Soc. 150 (12) (2022) 5335–5348.
- [3] F. Brock, A general rearrangement inequality à la Hardy-Littlewood, J. Inequal. Appl. 5 (2000), no. 4, 309–320.
- [4] M.M. Fall, E. Valdinoci, Uniqueness and Nondegeneracy of Positive Solutions of  $(-\Delta)^{s}u + u = u^{p}$  when s is close to 1, Comm. Math. Phys. 329 (2014), no. 1, 383–404.
- [5] M.M. Fall, T. Weth, Uniqueness and nondegeneracy of solutions to  $(-\Delta)^{s}u + u = u^{p}$  in  $\mathbb{R}^{N}$  and in balls, arXiv:2310.10577.
- [6] P. Felmer, A. Quaas, J. Tan, *Positive solutions of nonlinear Schrödinger equation with the fractional Laplacian*, Proc. Roy. Soc. Edinburgh Sect. A 142 (2012), no. 6, 1237–1262.

- [7] R.L. Frank, E. Lenzmann, Uniqueness of non-linear ground states for fractional Laplacians in ℝ, Acta Math. 210 (2013), no. 2, 261–318.
- [8] R.L. Frank, E. Lenzmann, L. Silvestre, Uniqueness of radial solutions for the fractional Laplacian, Comm. Pure Appl. Math. 69 (2016), no. 9, 167–1726.
- [9] T. Gou, Uniqueness of ground states to fractional nonlinear elliptic equations with harmonic potential, arXiv:2208.12068, accepted in Proc. Roy. Soc. Edinburgh Sect. A for publication.
- [10] M. Hirose, M. Ohta, Structure of positive radial solutions to scalar field equations with harmonic potential, J. Differential Equations 178 (2002), no. 2, 519–540.
- [11] M. Hirose, M. Ohta, Uniqueness of positive solutions to scalar field equations with harmonic potential, Funkcial. Ekvac. 50 (2007), no. 1, 67–100.
- [12] M.K. Kwong, Uniqueness of positive solutions of  $\Delta u u + u^p = 0$  in  $\mathbb{R}^n$ , Arch. Rational Mech. Anal. 105 (1989), no. 3, 243–266.
- [13] N. Laskin, Fractional quantum mechanics and Lévy path integrals, Phys. Lett. A 268 (2000), no. 4-6, 298–305.
- [14] N. Laskin, Fractional Schrödinger equation, Phys. Rev. E (3) 66 (2002), no. 5, 056108, 7 pp.
- [15] M. Stanislavova, A.G. Stefanov, *Ground states for the nonlinear Schrödinger equation under a general trapping potential*, J. Evol. Equ. 21 (2021), no. 1, 671–697.
- [16] Michel Willem, Minimax Theorems, Birkhäuser Verlag, Boston, Basel, Berlin, 1996.
- [17] E. Yanagida, S. Yotsutani, *Pohozaev identity and its applications*, Sūrikaisekikenkyūsho Kōkyūroku 834 (1993), 80–90.